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1. Solve y"+y=4cosx

2. Use the Laplace Transform to solve the given initial-value problem
Y -6y +9y=r'¢* subjectto p(0)=2 »y'(0)=17

2 20
3. Find the inverseof A=|-2 1 1
' 30 1

4. TFind the eigenvalues and eigenvectors of the given matrix

1 2 3
A=10 5 6
0 0 -7

5. Determine whether the given matrix A is diagonalizable. If so, find the matrix P that
diagonalizes A and the diagonal matrix D such that D= P AP

12 2
A=2 3 =2

-5 3 8

6. - Find the curl and divergence of the given vector field
F(x,y,2)=x"sin yzi + zcosxz’ j + ye'” k.

7. Use Green’s Theorem to evaluate the given line integral

. (% 2 xpdde + Sx}fg dy -, where C is the triangle with vertices (1,2) (2,2) (2,4)
g} Fedr L .
8. Use Stokes’ Theorem to evaluate < Assume C is oriented counterclockwise as
viewed from above. F =(x+22)i+(G3x+y)j+ 2y~ 2)k C the curve of intersection of the

plane x+2y+z=4 with the coordinate planes.

9. Find the Fourier Series of f on the given interval

f( ) 0 -w<x<0
x =
1 0<x<m

- 10.Solve  (e” —ycosxy)dx+(2xe”” —xcosxy+2y)dy =0
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